(/=R ==

AL T Y b

10tCRIT L

BEW | BAREEW | txB | © P WHALEF E | H SLE

15A 21.7 2.0x25 45 20 M6 x 20 67 10.0

20A 21.2 2.0x25 45 20 M6 x 20 70 10.0

25A 34.0 2.0x25 45 20 M6 x 20 73 10.0

32A 42.7 2.0x25 45 20 M6 x 20 11 10.0

40A 48.6 2.0x25 45 20 M6 x 20 81 10.0

50A 60.5 2.0x25 45 20 M6 x 20 87 10.0

65A 76.3 2.0x25 45 20 M6 x 20 95 10.0

80A 89.1 2.0x25 45 20 M6 x 20 102 10.0

100A 114.3 2.0x25 45 20 M6 x 20 115 10.0

O
| ue . ]
| |
\ \
\ \
| |
\ \
| |
\ \
| |
\ \
\ \
| |
\ \
I I
\ \
| |
\ \
\ \
\ \
\ \
| |
\ \
| |
\ \
\ \
\ \
\ \
[ !
{ AR |BE | &% _. o o
AT UL RHEFBHIRIL/ N FBNAT
ME RENE RE
SUS304 1:1
&t X RE HE A%
Il — ~
F=A%
BE] RevNo.
10130010297 *M/\1-0
SHEET
AR ~ — >
mewiel QSR A TV E(L enszm| A3

INTEC




